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(BUYING A CAR(
A perfect car for hot weather is: 
a) a camper van
b) a hatchback

c) a convertible 
/c/
A suitable car for a large family is:
d) a limousine
e) an MPV
f) a pick-up 
/b/
An ideal car for driving on dirt roads is:
a) a sport car
b) a crossover
c) a saloon
/b/
A good car for transporting things is:

g) a coupé
h) a hatchback
i) a pick up
/c/
A right car for long holiday is: 

j) a camper van

k) a SUV

l) a lorry

/a/
A roomy car means:
m) a well equipped car
n) a car with lots of space

o) a comfortable car
/b/
An economical car means:

p) expensive to drive

q) cheap to drive

r) difficult to drive
/b/
A fully equipped car means:

s) a lot of space for passengers
t) suitable for transporting things
u) completely provided with interior features
/c/

When you are checked by the police, you have to hand in:
v) your ID card, driving licence, registration book and international motor insurance card

w) your ID card, make of vehicle, registration book, driving licence

x) your registration number, driving licence, international motor insurance card
/a/
 We have been already here, please ……….the car.

y) get in

z) get on

aa) get out of
/c/
I …....... a new car last month.
ab) buy

ac) bought

ad) buyed
/b/
 I have never ………. a car.

ae) sold

af) sell

ag) solden
/a/

I enjoy ………..a car all year round.

ah) travel

ai) travelling

aj) to travel
/b/

I always travel on holiday……..car.

ak) by

al) with

am) on
/a/

Could you ………..me your car for a couple of days?

an) hire

ao) lend

ap) borrow
/b/

The amount of money you get when you sell the car is:
aq) the price

ar) the resale value

as) the performance
/b/

How much petrol or diesel the car uses, means:
at) the interior features
au) the size

av) the fuel consumption
/c/

The car’s capacity to go fast is:
aw) the performance

ax) the speed

ay) the size
/a/

How big the car is, means:
az) the size of the car
ba) the resale value of the car
bb) the fuel consumption
/a/

When a customer always buys the car from the same manufacturer, it is:
bc) interior features

bd) performance

be) brand loyalty
/c/

The crash tests are done to improve the …….. 
bf) resale value

bg) brand name

bh) safety features
/c/

bi) FWD means ………………………………………

bj) užitečný výkon 

bk) pohon předních kol

bl) přímé vstřikování paliva
/b/

Mph means……………………………………….

bm) míle na galon

bn) míle za hodinu

bo) gram na kilometr
/b/
Rpm means……………………………………

bp) pohon zadních kol

bq) užitečný výkon

br) otáčky za minutu
/c/

TDI means……………………………..

bs) motor s vnitřním vstřikováním

bt) zážehový motor

bu) přímé vstřikování
/a/

GDI means…………………….

bv) zážehový motor

bw) užitečný výkon

bx) přímé vstřikování
/c/

You …………..buy a SUV, it is just a perfect car for you.
by) mustn’t

bz) should

ca) can’t
/b/
cb) I see you’re interested ……this model.

cc) about

cd) of

ce) in
/c/

If I were you, I ……….buy a family car.

cf) would/ wouldn’t

cg) will/ won’t
ch) - /not
/a/

 ……. is the maximum speed of the car?

ci) Which

cj) What

ck) How
/b/
(CAR DESCRIPTION(
You open the ……….to look at the engine.

a) door
b) bonnet

c) boot
/b/

The ………. absorbs small impacts in an accident.

d) bumper
e) roof

f) number plate
/a/
Don’t forget to remove the………from the roof using the car wash.

g) side mirror

h) door handle

i) aerial
/a/

Can you put my bag in the ……….. , please?

j) boot

k) cap

l) exhaust pipe

/a/
When it starts raining, you need to switch on the………

m) wing

n) sunroof

o) windscreen wiper
/c/
“What model is that?” I don’t know, I can’t see the ……from here.”
p) badge/logo

q) indicator

r) sill
/a/

When you want to turn right or left you must use .........

s) wheel arch

t) headlights

u) indicators
/c/

Which one is not correct?

v) to open the bonnet
w) to close the bonnet

x) to inflate the bonnet
/c/

Which one is not correct?

y) to switch on the windscreen wiper

z) to fill the windscreen wiper

aa) to switch off the windscreen wiper
/b/

Which one is not correct?

ab) to remove the tyre

ac) to inflate the tyre

ad) to lower the tyre
/c/

Which one is not correct?

ae) to find out the failure
af) to fix a failure

ag) to brake down a failure
/c/
Which one is not correct?

ah) to replace the rear mirror

ai) to drive the rear mirror

aj) to adjust the rear mirror
/b/

The American word for aerial is:

ak) a fender

al) a trunk

am) an antenna
/c/
The American word for bonnet is:

an) a tire

ao) a hood

ap) a windshield
/b/

The American word for indicator is:

aq) a turn signal

ar) a trunk

as) a gas tank lid
/a/

Could you close the …………….? I am getting cold.

at) door

au) steering wheel

av) air vent
/c/

In a car with manual transmission, you need to press the……. when you want to change the gear.
aw) gas pedal
ax) clutch pedal

ay) brake pedal
/b/
After starting your car, don’t forget to release the ………….before you drive away.
az) hand brake

ba) car seat

bb) sun visor

/a/
For safety reasons you should always fasten your ………. .
bc) steering wheel

bd) seat belt

be) gear stick
/b/

Adjust your ……….. to sit comfortably.
bf) glove box

bg) cup holder

bh) seat
/c/

It shows you how fast the car is travelling.

bi) speedometer

bj) fuel gauge
bk) voltmeter
/a/

It shows you that you have to check something.

bl) driver information system

bm) rev counter

bn) warning / indicator lights
/a/

It warns you if engine lubrication system gets too hot.

bo) fuel gauge

bp) engine oil temperature gauge

bq) coolant temperature gauge
/b/

It shows how often the engine is turning over.

br) speedometer

bs) voltmeter

bt) rev counter
/c/

It shows you how much petrol you have in the tank.
bu) speedometer
bv) fuel gauge

bw) driver information system
/b/

Which one is not correct?

bx) open the petrol cap

by) open the sunroof
bz) open the windscreen
/c/
Which one is not correct?

ca) adjust the seat belt

cb) adjust the indicator

cc) adjust the steering wheel
/b/

 Which one is not correct?

cd) check the ashtray before you start driving
ce) check the warning lights before you start driving
cf) check the fuel before you start driving
/a/

Which one is not correct?

cg) switch on the indicator

ch) switch on the tyre pressure

ci) switch on the fog lights
/b/

 Which one is not correct?

cj) close the boot

ck) close the petrol cap

cl) close the headlights
/c/

( UNDER THE BONNET(
01.01.01. What does it mean in Czech? PROPELLER SHAFT 
a) hnací hřídel
b) kliková hřídel
c) výstupní hřídel
/a/

What does it mean in Czech?  GEARS
a) převodovka
b) převody

c) spojková lamela
/b/

What does it mean in Czech?  FLYWHEEL
d) setrvačník

e) kloub

f) přítlačný talíř
/a/

The power produced by the engine turns the crankshaft and the ________ .

g) pressure plate

h) drive shaft

i) flywheel
/b/

When the driver depresses the ________ flywheel is connected from the engine.

j) accelerator pedal
k) clutch pedal

l) brake pedal
/b/

Inside the gearbox there are different _______. 

m) gears

n) clutches

o) joints
/a/

How do I check how much brake fluid I have?
p) You needn’t check it.
q) You must look at the level at the reservoir.
r) You must check it in your manual.
/b/

How often do I need to check the oil level?
s) Never.
t) At regular intervals.
u) Every day. 

/b/
Do I have to change the coolant in the cooling system?
v) It is filled in the factory and it has to be changed every four years in the car service.
w) It is filled in the factory and then is changed once a year in the service.
x) It is filled in the factory and then you change it every second year by yourself.
/a/
The battery is ________ in shape.

y) triangular

z) circular

aa) square
/c/

The piston is ________________ in shape.

ab) cubical

ac) cylindrical

ad) conical
/b/

The engine oil filler cap is_________.
ae) rectangular

af) spherical

ag) circular
/c/

The adjective from POWER is:
ah) power
ai) powerful
aj) powering
/b/ 

The adjective to EXPLOSION using one of the suffixes:
ak) explosive
al) explosiful
am) explodive
/a/

The verb to EXPLOSION is

an) explose
ao) explode

ap) exploser
/b/
(ENGINE(
The principle of the internal   ______ engine has not changed in the 100 years.

a) transmission

b) combustion

c) power
/b/

The engine takes in ______ and air which is compressed in a combustion chamber.

d) water

e) oil

f) fuel
/c/

Then this mixture is ignited by a _____ to produce an explosion.

g) spark plug

h) piston

i) crankshaft
/a/

The explosion moves the ________ in the cylinder.

j) half shaft
k) propeller shaft

l) piston
/c/

The up and down motion of the piston in the cylinder is converted into rotational motion by the _______.

m) crankshaft

n) half shaft

o) propeller shaft
/a/

The rotational force generated by the engine is known as _______.
p) up and down motion

q) torque

r) linear motion
/b/

The more………. there are in the engine, the more powerful the engine is.

s) valves

t) cylinders

u) shafts
/b/

One answer is not correct for the petrol engine. Which one?
v) Air and fuel are sucked into the cylinder at the same time.
w) At first only air is sucked into the cylinder. 
x) The aerosol of air and fuel must be ignited by a spark plug.
/b/
One answer is not correct for the diesel engine. Which one?

y) The fuel is heavier and evaporates more slowly.

z) The exhaust gases are cooler and this makes the engine more efficient.
aa) The production costs are higher because the fuel needs more refining.
/b/

Which is the right order of the four-stroke engine cycle?

ab) Compression, combustion, intake and exhaust
ac) Combustion, compression, exhaust and intake
ad) Intake, compression, combustion and exhaust
/c/
Petrol is ___________ than diesel.

ae) common

af) more common

ag) commoner
/b/

A petrol car is much _________ than a diesel one.

ah) less noisy

ai) noisiest

aj) last noisy
/a/

Diesel engine cars are __________ than petrol cars.
ak) expensiver
al) more expensive
am) expensive
/b/

LPG is __________ to the environment compared with diesel and petrol.

an) the friendliest
ao) more friendly
ap) friendlier
/a/
( MANUFACTURING(
The parts are welded to the frame of the car in the _____
a) chassis line
b) body shop

c) trim line
/b/

The car gets its colour in the ___________

d) paint shop

e) assembly line

f) colour shop
/a/

The instrument panel, the air conditioning, the electrical wiring etc. are added in ____

g) final assembly line

h) chassis line

i) trim line
/c/

The car can be released after quality control and ________
j) final check

k) delivering

l) quotation
/a/

The body _________ to the chassis.

m) are attached

n) is attached

o) attaches
/b/

Some parts are ____________ to the body shop.

p) take

q) took

r) taken
/c/

Finish the sentence. For safety, the tests are ________.

s) done

t) did

u) doing
/a/

Finish the sentence. Workers weld thin metal sheets to a frame …..
v) to check the movement of the wheels

w) to make the car body

x) to install the fuel system easily
/b/

Finish the sentence. Workers check the car body by hand …..
y) to protect the wet paint from the dust

z) to inspect it for faults in the paint 

aa) to paint the body of the car
/b/

Finish the sentence. Workers put the finished car on rollers….
ab) to install the fuel system
ac) to wash the car
ad) to check the movement of the wheels
/c/

Find the right Czech translation for the word ORDER

ae) dodávka

af) nabídka

ag) objednávka
/c/

Find the right Czech translation for the word QUOTATION

ah) poptávka

ai) cenová nabídka

aj) faktura
/b/

Find the right Czech translation for the word INVOICE

ak) dodávka

al) harmonogram

am) faktura
/c/

Find the right Czech translation for the word MANUFACTURER

an) výrobce

ao) dodavatel

ap) zákazník
/a/

Find the right Czech translation for the word SUPPLIER

aq) výrobce

ar) dodavatel

as) zákazník
/b/
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MANUAL WORK(
What is it?

a) a chisel

b) a spanner

c) a hammer
/c/
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What is it?  

a) a spanner

b) a pair of pliers

c) a knife
/a/
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What is it?  
a) a chisel
b) a screw driver

c) a wrench
/b/
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What is it? 

d) a saw

e) a blade

f) a pair of pliers
/c/
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What is it? 

a) a lever

b) a jack

c) a ruler
/b/

Build the sentence: Chisels….
d) loosen the screws

e) cut metal

f) cut wood
/a/

Build the sentence: Screwdrivers……
g) grip wire

h) loosen screws

i) drive nails
/b/

Build the sentence: Pliers…..
j) grip wire

k) cut wood
l) cut paper
/a/

Build the sentence: Rulers…..
m) tighten nuts

n) measure everything

o) cut wood
/b/

Match the right opposite to the word heavy
p) hard

q) light

r) brittle
/b/

Match the right opposite to the word weak

s) strong

t) tough

u) soft
/a/

Match the right opposite to the word brittle

v) tough

w) rigid

x) hard
/a/

Match the right opposite to the word rigid

y) flexible

z) soft

aa) heat-resistant
/a/

The tyres of a car are made from
ab) foam

ac) rubber

ad) steel
/b/

The seats and the steering wheel are covered with

ae) wood

af) plastic

ag) leather
/c/

You can ________ wood.
ah) bend
ai) cut
aj) stretch
/b/

You can ________ plastic.
ak) compress

al) bend

am) melt
/c/

You can ________ water.
an) melt

ao) heat

ap) break
/b/

You can _______ air.
aq) compress

ar) strike

as) drop
/a/

You can _______ glass.
at) bend

au) brake

av) corrode
/b/

If you change a car wheel, you use a jack to______ the car.

aw) lower

ax) raise

ay) take off
/b/

You need a box spanner to __________the nuts.

az) put on 

ba) change

bb) loosen
/c/

You ________ the wheel ________ the axle.

bc) change

bd) remove
be) take off
/c/

When you have changed the spare wheel, you _______the car.
bf) pic up

bg) adjust

bh) lower  
/c/

What can´t you SWITCH OFF? 
bi) the engine
bj) the brake

bk) the lights
/b/

What can´t you POUR IN?
bl) the air

bm) the water

bn) the oil
/a/

What can´t you DRIVE IN?
bo) the screw

bp) the nuts

bq) the nails
/b/

What can´t you PULL BACK?
br) hand brake

bs) lever

bt) steering wheel
/c/

Find the right opposite to the verb LOOSEN:

bu) lower

bv) adjust
bw) tighten
/c/

Find the right opposite to the verb RAISE:

bx) press

by) lower

bz) heat
/b/

(SAFETY(
You wear goggles to protect your …….. .
a) hands

b) body

c) eyes
/c/

You wear boots to protect your…….. .
d) feet

e) ears
f) arms
/a/

You wear gloves to protect your……. .
g) hands

h) head

i) hair
/a/

You wear a hat to protect your……. .
j) body

k) head

l) neck
/b/
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This prohibition sign means: 
a) Do not smoke
b) Do not touch

c) Do not steal
/b/
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This prohibition sign means: 
a) No exit

b) No walk





c) No entry
/c/
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This warning sing means:     
a) Caution Danger
b) Caution Slippery floor surface
c) Caution Keep away
/b/
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This warnig sign means: 
a) Danger High voltage

b) Danger Electricity

c) Danger Access prohibited
/a/
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This mandatory sign means: 

d) Dangerous machine

e) Do not touch

f) Use guard
/c/
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This mandatory sign means: 

a) Stack correctly
b) Danger falling material

c) Use crane
/a/

You _________ burn your hands.

d) Mustn’t

e) Might

f) Don’t
/b/

You _______ wear a hard hat on the building site.

g) Might

h) Must

i) Can
/b/

________ use your mobile phone.

j) You mustn’t 

k) Don’t

l) You might
/b/

_________ touch the machine.

m) Always

n) Often

o) Never
/c/

You ________ smoke in the workshop.
p) Don’t

q) Needn’t

r) Mustn’t
/c/

(INNOVATIONS(
It helps drivers to plan routes.
a) ABS

b) ESP

c) GPS
/c/

It detects and minimizes skids.

d) ESP

e) LPG

f) GDI
/a/

It prevents the wheel from locking up.
g) GPS

h) ABS

i) GDI
/b/

It doesn’t protect the driver in collision. 

j) Seat belt

k) Air bag

l) Air conditioning
/c/

Spilled oil can ______ landscape and endanger animals.
m) spoil

n) protect

o) prevent
/a/

Carbon dioxide and nitrogen oxide are ___________ gases.

p) harmful

q) critical

r) environmental friendly
/a/

It is necessary to ___________ our environment.

s) prevent

t) protect

u) endanger
/b/

A hybrid electric vehicle combines 

v) Internal combustion engine and electricity
w) GDI and electricity

x) LPG and electricity
/a/

GDI engine has 

y) higher consumption

z) lower consumption

aa) any consumption
/b/

To active safety system doesn’t belong

ab) anti-lock braking system
ac) Electronic Stability Control
ad) air bags
/c/
(REPAIR AND SERVICE(
The front tyre is:

a) scratched

b) bent

c) punctured
/c/

The aerial is:

d) torn

e) cracked
f) bent
/c/

The side window is:

g) bent

h) dented

i) broken
/c/

The front seat is:

j) bent

k) cracked

l) torn
/c/

If you want your car to run well, you have to ________ it all time.

m) clean 

n) maintain

o) repair
/b/

If you don’t know what’s wrong with your car, you have to ________ it.

p) fix

q) replace

r) diagnose
/c/

If the car ignition doesn’t work, you have to 

s) check the cooling system

t) check the battery

u) change the flat tyre
/b/

If I don’t change the oil regularly, 

v) I will damage the engine.

w) I would damage the engine.

x) I won’t damage the engine.
/a/

If I don’t keep the paint finish in a good condition, 
y) the car doesn’t look smart.

z) the car won’t look smart.

aa) the car isn’t looking smart.
/b/

If I changed the tyres, 

ab) I wouldn’t have an accident.

ac) I didn’t have an accident.

ad) I had an accident.
/a/

If I didn’t forget to clean the spark plugs,

ae) the engine will work smoother.

af) the engine would work smoother.

ag) the engine works smoother.
/b/

Which one is right?

ah) bend – bended – bended

ai) bend – bent – bent

aj) bend – bent – bended
/b/

Which one is right?

ak) break – broke – broken

al) break – breaked – broken

am) break – broken – broken
/a/

Which one is right?

an) dent – dent – dent

ao) dent – dented – dented

ap) dent – dent – dented
/b/

Which is right?

aq) tear – teared – teared

ar) tear – teared – torn

as) tear – torn – torn
/c/

On the phone: “Good morning. Mr. Johnson __________.”
at) speak

au) speaks

av) speaking
/c/

I will pass the message _______________ he gets back.

aw) sooner

ax) soonest

ay) as soon as
/c/

I am very __________ about it. It won’t happen again.
az) sorry
ba) excuse
bb) afraid
/a/

__________, I am not able to do that.

bc) Unfortunately

bd) Certainly

be) Fortunately
/a/

Which car are you interested____?

bf) -----

bg) on

bh) in
/c/

To deal ________ customers complains.

bi) about

bj) on

bk) with
/c/

What do you think ____ the car?

bl) about

bm) of

bn) on
/b/

If you have ____ other questions, let me know.

bo) some

bp) any

bq) -----
/b/

______ the rest of the show.
br) Like

bs) Enjoy
bt) Make
/b/

One point in __________ of the car is the speed.

bu) favour

bv) favourite

bw) flavour
/a/

Drawback means…..
bx) advantage

by) disadvantage

bz) question
/b/

The opposite of purchase is…..
ca) sale

cb) satisfaction

cc) service
/a/

Which one is not right at the end of the formal letter?
cd) Best regards

ce) See you soon
cf) Your sincerely
/b/

Which one is not right?

cg) Nice to meet you.

ch) Please to meet you.

ci) Well to meet you.
/c/

Would you mind ____________ a moment?
cj) wait

ck) to wait

cl) waiting
/c/
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